
ECN221 Exam 1 VERSION B Fall 2017 (Modules 1-4), ASU-COX

VERSION B

Choose the best answer. Do not write letters in the margin

or communicate with other students in any way; if you do you

will receive a 0. If you have a question note it on your exam

and ask for clarification when your exam is returned. In the

meantime choose the best answer. Neither the proctors nor Dr.

Cox will answer statistics questions during the exam.

Please check each question and possible answers thoroughly

as questions at the bottom of a page sometimes run onto the

next page. Please verify that your test version and scantron

version are the same.

This exam has 25 questions. Cost for turning in exam late:

1st minute is 10 points; 2nd minute is 20 additional points

(30 total); 3rd minute is 30 points (60 total) ; 4th minute is

40 points (100 total); 5th minute is 50 points (150 total); 6th

minute is 80 points (230 total) and no exams are graded past

that point.

As noted in the syllabus entering your student ID incorrectly

on your scantron results in a 10 point deduction.
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1. You are making a presentation to a group of mid level managers and want to show the
differences in sales by geographic region. An appropriate graph to show this would
be

(a) a histogram

(b) a bar chart

(c) a scatter plot

(d) any of the above

(e) none of the above

2. You create a boxplot to show the distances of retailers from your dristibution centers.
From the boxplot your audience can quickly tell or get an idea about

(a) the prescence of outliers

(b) the median distance

(c) the interquartile range

(d) a and b

(e) all of the above

3. You will use the data below to answer multiple questions. The data are for a few
basketball players in the NBA during 2016-2017. What is the average number of
points scored for these players?

2016-2017 basketball players

name height in inches games played shots blocked points scored

Kristaps Porzingis 87 66 129 1196
Boban Marjanovic 87 35 12 191
Salah Mejri 86 73 61 213
Alexis Ajinca 86 39 22 207
Roy Hibbert 86 48 46 221
Marc Gasol 85 74 99 1446

(a) 55.8333333333333

(b) 503.73

(c) 607.95

(d) 579

(e) 583
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4. Using the 2016-2017 basketball players table, what was the standard deviation for
the players’ height?

(a) 0.752772652709081

(b) 1.05277265270908

(c) 0.292772652709081

(d) 0.882772652709081

(e) 0.942772652709081

5. Using the 2016-2017 basketball players table, what was the range for shots blocked?

(a) 112

(b) 120

(c) 116

(d) 113

(e) 117

6. Using the 2016-2017 basketball players table, what was the interquartile range for
games played?

(a) 36

(b) 34

(c) 37.5

(d) 43

(e) 39

7. Using the basketball players table above, what would be the appropriate number of
classes to use when creating a histogram for points scored?

(a) 5

(b) 8

(c) 14

(d) 20

(e) a histogram would not be appropriate in this example
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8. The graph here (below) is for which variable in the basketball players data set?
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basketball players

which variable?

(a) height

(b) games

(c) blocks

(d) points

(e) the plot is not consistent with any of the above variables

9. Calculate the coefficient of variation for points scored.

(a) 106.729151576736%.

(b) 99.7852961694622%.

(c) 10.0215165799752%.

(d) 100.215165799752%.
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(e) 29.8486905560809%.

10. Using the basketball players data set, what is the minimum for shots blocked?

(a) 129

(b) 12

(c) 61.5

(d) 14

(e) 53.5

11. In the basketball players data which variables use the ratio measurement scale?

(a) games, blocks, points

(b) blocks, points

(c) height, games, blocks, points

(d) games

(e) none

12. Calculate the z-value for points scored for Kristaps Porzingis. It is:

(a) -0.668682122862717

(b) 1.06334244795437

(c) 1.49348710909848

(d) -0.762297620063498

(e) 0.69691199380012

13. Calculate the z value for an observation that has a value of 11 when the sample mean
is 10 and the sample standard deviation is 2.07.

(a) 0.497584541062802

(b) 0.507246376811594

(c) 0.483091787439614

(d) 0.516908212560387

(e) 0.466183574879227

14. The sample space is all the different sets of 4 people. There are 12 people from which
to choose. How big is the sample space?
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(a) 495

(b) 220

(c) 210

(d) 45

(e) none of the above

15. There are 22 major film actors and 6 will be nominated for an award as best actor.
How many different possible combinations of nominees are possible?

(a) 4845

(b) 1140

(c) 125970

(d) 3003

(e) none of the above

16. You want to study how tuition at public universities has changed since 1997. You look
at 42 public universities in assembling your data set. How would we best describe
your tuition data set?

(a) the data are a times series

(b) the data are a times series and cross sectional

(c) the data are cross sectional

(d) the data are categorical

(e) the data are a categorical time series

17. The table here is from the classes’ responses to the survey for homework 1. How
many students got the question correct about the categorical variable?

answer about categorical variable total

took a stats class before correct wrong total

NO 197 17 214

YES 72 5 77

Total 269 22 291

(a) 269

(b) 197

(c) 72

(d) 291

(e) 0.676975945017182
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18. The table here is from the classes’ responses to the survey for homework 1. What
is the probability that a student randomly drawn from the class has never taken a
statistics class before?

answer about categorical variable

took a stats class before correct wrong Total

NO 197 17 214

YES 72 5 77

Total 269 22 291

(a) 0.924398625429553

(b) 0.264604810996564

(c) 0.247422680412371

(d) 0.735395189003436

(e) 0.676975945017182

19. The table here is from the classes’ responses to the survey for homework 1. What is
the probability that a student randomly drawn from the class took a statistics class
before and got the question about categorical variables wrong?

answer about categorical variable

took a stats class before correct wrong Total

NO 197 17 214

YES 72 5 77

Total 269 22 291

(a) 0.0756013745704467

(b) 0.264604810996564

(c) 0.0584192439862543

(d) 0.0171821305841924

(e) 0.0649350649350649

20. The table here is from the classes’ responses to the survey for homework 1. What
is the probability that a student got the question about categorical variables wrong
given that the student took a statistics class before?

answer about categorical variable

took a stats class before correct wrong Total

NO 197 17 214

YES 72 5 77

Total 269 22 291
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(a) 0.0756013745704467

(b) 0.0649350649350649

(c) 0.220779220779221

(d) 0.0171821305841924

(e) 0.0694444444444444

21. Apply your knowledge of probabilites rules to find the correct answer. Suppose you
know that P (A ∩B) = 0.

(a) P (A ∪B) = 0.

(b) P (A|B) = 0.

(c) P (A)P (B) = 0.

(d) all of the above

(e) none of the above

22. Choose the correct statement.

(a) The z-score method is the best way to identify outliers.

(b) Outliers based on the IQR method always have |z scores| > 3.

(c) Outliers which make the mean increas by more than 150% or decrease by more
than 50% should be excluded from the analysis.

(d) a and b are correct.

(e) none of the above.

23. The sample variance is never greater than the population variance?

(a) True

(b) False

(c) True if the variance is greater than the mean but false otherwise.

24. Suppose you have a frequency table which is made for the number of sales by the
number of sales representatives as shown below. Choose the correct answer.

sales frequency

10 1

14 2

18 3

19 5

20 8

22 3

25 1
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(a) from this you could construct a relative frequency table

(b) from this you could construct a relative cumulative frequency table

(c) from this you could construct a stem and leaf display

(d) a and b are true

(e) a, b, and c are true

25. Consult the table in the previous question concerning sales. What is the empirical
probability of observing a sales representative that makes more than 22 sales?

(a) 0.0434782608695652

(b) 0.173913043478261

(c) 0.25

(d) none of the above

(e) cannot be calculated from the information in the table
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Key

1. b

2. e

3. d

4. a

5. e

6. b

7. e

8. d

9. d

10. b

11. c

12. b

13. c

14. a

15. e

16. b

17. a

18. d

19. d

20. b

21. b

22. e

23. b

24. e

25. a
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